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Introduction: the Dynare Enviromet

Figure: The .mod �le beig read by the Dynare processor which than calls
the relevant Matlab/Octave routines to carry out the desired operations
and dysplay the results



Steps to Solving and Simulating DSGE

I To use Dynare you need:
I Have an installation of Matlab or Octave on your computer
I Download Dynare fron www.dynare.org and Install Dynare on
you computer

I Add Dynare/Matlab Path on you Matlab or Octave
Installation

I Write you model in a simple text �le and save it as .mod (a
very good text editor is Notepad++ that comes standard with
Octave or that you can download from
http://notepad-plus-plus.org/)

I type "dynare �lename.mod" in the Matlab/Octave command
window and see the magicMonetary Policy in Emerging
Countries (13 and 14)



Neoclassical Model with Fixed Labor
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TFP is assumed to follow a mean zero AR(1) in the log:

ln at = ρ ln at�1 + εt



First Order Conditions
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Calibration

The parameters that need to be calibrated are σ, α, δ, β, ρ and σε,
σ,= 2, capital�s share
α = 1/3, the depreciation rate
δ = 0.025
β = 0.099
σε = 0.01



Timing Convention
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The Dynare Code

Figure: Structure of the .mod �le



The Model

var y i k a c;
varexo e;

parameters alpha beta delta rho sigma sigmae;

alpha = 0.33;
beta = 0.99;
delta = 0.025;
rho = 0.95;
sigma = 2;
sigmae = 0.01;



The Model

model;
exp(c)^(-sigma) = beta*(exp(c(+1))^(-
sigma))*(alpha*exp(a(+1))*(exp(k))^(alpha-1) +
(1-delta));
exp(y) = exp(a)*exp(k(-1))^(alpha);
exp(k) = exp(a)*exp(k(-1))^(alpha) - exp(c) +
(1-delta)*exp(k(-1));
a = rho*a(-1) + e;
exp(i) = exp(y) - exp(c);
end;



Why exp(x)

exp(ln yt ) = exp(ln at ) exp(α ln kt )

Now linearize about the steady state:
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so that impulse responses, etc. are all in percentage terms.



More code

initval;
k = log(29);
y = log(3);
a = 0;
c = log(2.5);
i = log(1.5);
end;

shocks;
var e = sigmae^2;
end;

steady;

�stoch_simul�


